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sEcTtoN,.\

INSTRUCTION TO CANOIDATES :

l. sEcTloN-A is coMPuLsoRY consisting 9f TEN questions carylng
TWO harks each.

2. SECTION-B cont.ins SIX questions car.ylng TEN m.*s each and students
ha. ro .rlemDl .ny FOUR quesllohs.

CT Inst. of Engg. , Mgt. & Technolnr
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.*.) "'64' e rculrrlolo5'

Diflere.tiale betueen Cost Acoounling and Fitancial Accounting. Discus
drc advmlages and dis vantages ofcosl  ccounting.

wh! slould an organisation prerJare cash Florv Slatcmcnt? Discnss the

fomat ofils p.eparalion as per tho rcqunement ollhe eleldt ,{c.ounlidg

Diflerehtiate bet$een Standard Costing and Budgelary Cootrol. Discnss

the objectives and sisDiiicaDce ofcalcul ing ldious material vaiaces.

Mr Mohan has Rs.2,00,000 investments in his busincss.IIe $an1s a

l5%return from his investments. Frob lhe rnalysis ofrecent cos1 llgurcs,

hc finds that his lariable operatidg cost is 60% olsales and his fi\ed
costs arc Rs. 80.000 per yer show compntatioDs to ans$e.1he followilg

l. What salcs rolumc must be oblained to break{\,cn?

ll Wh.'r ..'1". \olrrn muir be oblarncd n S"l l+"rerurn or rhe

Ill. M. Mohan estiratcs that cven ifhe clos€d the doors ofhis busi'rcss,

he $ould incu, Rs.25.000 as expenses per ycar, Al whal sales

$ould lre be better olIb, locking his lusiness up?

lvlohit t td. trrnishcs the ibllowing intomalion in rclatioD to the produdion

of2000 unils ofa Droduct tbr the ye.r 2010:

Indncct szses (50% nxed)

1 Rr--_ -l-o ,,,,r,o.,o

consnmrble stores (70% rariable )

Ofiice ent (100% nxed )

Scllins expenss (.10% v.dable )

It is estimatcd thrt the producliod $ill be incrlascd'by50% in the ycar

201l. Thc lrice oi'\malerials aDd labour will go up by t0% and 20%
respectivell You de ,eqlired to .omNte the selling price pcr unit for the

producr lor the ]!ai 20t l, ifth€ company rvishes to maintanr a prolil of
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lwtat is tndiEct I-abour? Cive an example.

What is lie-ordcring tf,vel?

write tlvo linitations of'Iimc rate S)stem.

I rplrn I'V rdlio. !r
Holv $ould lou calculate labou rate lariance! , ,t-(tf

^\
u lal r. I'|.\rb'c l'udlelintsl , ,l
u'riE r\.u ilen. Urdl r.j dFe-r in ('u'lAcluunrs md rcr ir liN,il5l,
A"onnts r\b
\\ h a.e componenls ol Pnne an. 1 t,

r,50,000

30.000

60.000

80.000
h)

D

)
What is the objcctnc oflrepaine Fmds !low statemcnl?

Wh,t ir nra.hine hnnr r.te!

SECTTON,B

2. DisLinguish bet{ten allocation, apportionnent add rbsorplion ofolerheads.
Diso{s the meihods ofapDoftionment ol taclory olerheads.
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